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270 7 171(50.0%) No Block 270 7 170(50.0%)
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E AE %53 AlZERE ol =42
MIET 2| 25(33.8%) 13(17.6%) 10(13.5%) 1(01.4%) 5(06.8%) 20(27.0%)
ME =2 32(48.5%) 20(30.3%) 12(18.2%) 1(01.5%) 1(01.5%) 0(00.0%)
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ol 2y &3 s b B7l | SHME HHE sus s3 =K S A%
1 GSZHA 15 5 0 5 15 3 5.000 448 357 1.255 55
2 e Fa= 14 5 2 7 16 10 1.600 573 553 1.036 25
3 a4y 14 4 3 7 16 1 1.455 615 536 1.147 11
4 KGCRI&tS A 7 3 3 6 13 15 0.867 571 592 0.965 25
5 St 2T A 5 1 6 7 9 18 0.500 547 623 0.878 SIf
6 IBK7| 23 2 1 5 6 5 17 0.294 415 508 0.817 SIf
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